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Introduction
 In this paper, we propose our view on RAN5 LS from R5-235340.
Discussion
	RAN5 explored triggering 2 separate MO transmissions without the need for UE to return to RRC_CONNECTED and concluded that the simplest way to test the RAN4 requirement for positive and negative check mentioned above is by splitting the test into 2 subtests, each starting in RRC_CONNECTED in time interval TA and ending in time interval TH with different power levels such that subtest 2 is only tested if subtest 1 passes



RAN5 asked about splitting to two subtests. From RAN4 performance requirement, it does not necessary define separate requirements and tests. Two subtests can be simply supported by updating the definition of T4 and add time point TL to indicate when UE receive RRC resume request. 
In order to perform multiple iterlation of CG-SDT performance test, RRC status should be transitioned between INACTIVE and CONNECTED per iteration regardless of splitting two subtests. Therefore, back to RRC CONNECTED is not avoidable. The change in test procedure is once UE goes back to RRC CONNECTED, UE will perform subtest 2 if subtest 1 is passed. 
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Figure1. Update T4 definition and introduce new time period T5’ starting from TH. No specify time period between TL and TH.
Observation: Even current test requirements, UE has to go back to RRC CONNECTED for each iteration. From test procedure perspective, it is same whether perform subtest2 or test for next iteration for current test.  
Proposal: Test is passed when both subtest1 and subtest2 are passed in single test. 
· Note: It required go back to RRC CONNECTED after TG and return to RRC INACTIVE state at time point TH.
· Note: If UE does not transmit CG-SDT on TG then subtest2 is not executed, and the test is fail. 
· Note: If UE transmit CG-SDT on TG, and UE transmit CG-SDT after TH, then the test is fail. 
· Note: Subtest1 and subtest2 are not independent.
Proposal: RAN4 does not specify time period for RRC transition between subtest1 and subtest2. E.g ) RAN4 does not specify time period between TL and TH. 
Proposal: Power level keep same as P2 during RRC CONNECTED state after TG.
Proposal : Update T4 definition until TL, where TL is when UE receive RRC resume request. Introduce new time period starting from TH (e.g T5’)



Conclusions
Observation: Even current test requirements, UE has to go back to RRC CONNECTED for each iteration. From test procedure perspective, it is same whether perform subtest2 or test for next iteration for current test.  
Proposal: Test is passed when both subtest1 and subtest2 are passed in single test. 
· Note: It required go back to RRC CONNECTED after TG and return to RRC INACTIVE state at time point TH.
· Note: If UE does not transmit CG-SDT on TG then subtest2 is not executed, and the test is fail. 
· Note: If UE transmit CG-SDT on TG, and UE transmit CG-SDT after TH, then the test is fail. 
· Note: Subtest1 and subtest2 are not independent.
Proposal: RAN4 does not specify time period for RRC transition between subtest1 and subtest2. E.g ) RAN4 does not specify time period between TL and TH. 
Proposal: Power level keep same as P2 during RRC CONNECTED state after TG.
Proposal : Update T4 definition until TL, where TL is when UE receive RRC resume request. Introduce new time period starting from TH (e.g T5’)
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